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Subject Name: Mechanical Drafting
10:30 am to 1:30 pm Total Marks: 70

Time:

Instructions:

1.
2.
3.
4.
Q1 (a)
ys. 1 A
(b)
(]
Q2 (a)
ys.2 A

(b)

Attempt all questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

Each question carry equal marks (14 marks)

A cylinder base 35 mm diameter and 55 mm long has its axis parallel to H.P.
and 30 mm above H.P. and inclined at 30° to V. P. draw the projections of
this cylinder.
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A square pyramid base sides 45 mm and axis 75 mm long has its triangular
face in the V.P. and edge of its base contained by that face makes an angle of
30° with the V.P. Draw the projections of this pyramid.
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Fig. 1 shows pictorial drawing of an object. Draw the following views. (1)
Elevation (2) Sectional plan (3) R.H.S.V.
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A square prism 40 mm side and 80 mm height is intersected by an another
square prism having 20 mm side and 70 mm height. The axis of both the
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Q.3

4. 3

(b)

(a)

(b)

prism is at right angle and side of both the prism makes equal angle with V.P.
draw the intersecting curve.
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OR

A 40 mm diameter and 80 mm height cylinder resting on H. P. on its base is
intersected by another cylinder having 30 mm diameter and 80 mm height.
The axis of both the cylinder is bisect it at right angle and is parallel to V.P.
draw intersecting curve of solids.
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A cone 50 mm diameter and its axis 70 mm long is resting on H.P. and on its
base. A cone is cut by a sectional plane passing through the apex of the cone
and cutting the base by remaining 10 mm away from the axis. Draw front
view , sectional top view and true shape of the section.
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Draw the development of lateral surface of the cylinder of 60 mm base
diameter as shown in Fig. 2.
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Q.3

4. 3
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OR

A cylinder of 50 mm diameter and 80 mm long axis is stending on the H.P. on
its base. A sectional plane which is perpendicular to V.P. and inclined at 45°
to H.P. is bisecting the axis of the cylinder. Draw its front view, sectional top
view and true shape of the section.
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Draw the development of lateral surface of the cone of 50 mm base diameter
as shown in Fig. 3.
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Figure 5 shows details of foot-step bearing. Draw the assembly drawing
showing elevation and plan of an assembly of foot-step bearing. Give
necessary dimensions and prepare the part list.
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OR

Figure 4 shows an assembly of a knuckle joint. Draw detail drawing atleast
two views of each part. Give necessary dimensions and prepare the part list .
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Q.5 (a) Write the auto cad programme to draw the sketch as shown in figure no. 6
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Q.5 (b) A fit shown as 60 H7 g6 . sketch the fit and find the following (1) hole
tolerance (2) shaft tolerance (3) types of fit

Upper | Lower

H7 +25 +00

g6 -09 -25
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H7 +25 +00

g6 -09 -25

OR

Q.5 (@)  Sketch the following symbols (1) vacuum (2) fire line (3) globe valve (4)
elbow (5) union (6) seam weld (7) plug weld
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Q.5 (b) Draw the surface finish symbol showing complete details on it as per IS.
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A DETAILED
DRAWING
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Figure - § {Foot Step Bearing}
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